

WHAT'S THE DIFFERENCE?

$$6y^2 + 3y = 0$$

$$y = \left\{ 1, \frac{1}{2} \right\}$$

$$6y^2 + 3y$$

$$\underline{3y}(\underline{2y+1})$$

IF THERE IS AN Equal SIGN YOU
MUST Solve !

SOLVING & FACTORING STEPS

1. Make Sure one side = 0.

2. Factor Like Normal

3. Set each factor = 0
+ solve for variable.

SOLVE (GCF)

$$6y^2 + 3y = 0$$

$$2(3y)y + (3y) = 0$$

$$\underline{3y}(2y+1) = 0$$

$$\left\{ 0, -\frac{1}{2} \right\}$$

$$\frac{3y}{3} = \frac{0}{3}$$
$$y = 0$$

$$2y+1=0$$
$$\quad -1 \quad -1$$

$$\frac{2y}{2} = \frac{-1}{2}$$
$$y = -\frac{1}{2}$$

SOLVE (GCF)

$$5x^2 = 5x$$
$$-5x \quad -5x$$

$$5x^2 - 5x = 0$$
$$\frac{5x^2}{5x} - \frac{5x}{5x} = 0$$

$$5x(x-1) = 0$$

$$\{0, 1\}$$

$$\frac{5x}{5} = \frac{0}{5}$$

$$x = 0$$

$$x - 1 = 0$$
$$+1 \quad +1$$

$$x = 1$$

SOLVE (GROUPING)

$$\left(\frac{x^2}{x} + \frac{x}{x}\right) \left(\frac{-2x-2}{-2}\right) = 0$$

 $\left. \begin{matrix} 2 \\ -1 \end{matrix} \right\}$

$$x(x+1) - 2(x+1) = 0$$

$$(x-2)(x+1) = 0$$

$$\begin{array}{l|l} x-2=0 & x+1=0 \\ +2 & -1 \\ \hline x=2 & x=-1 \end{array}$$

SOLVE (GROUPING

$$x^2 - 3x - 7x = -21$$

+21+21

$$(x^2 - 3x)(-7x + 21) = 0$$